
Solution key  
to exercises from chapter 14 of Macroeconomics 
 
 
14.1 

Country Germany France Italy UK Belgium Denmark Finland Greece 
nominal GDP 3076.6 6776.2 1504.0 597.2 7098.4 851.3 476.8 18238.1 
Gov. Debt 1402.5 3076.1 1755.2 284.9 9306.0 627.4 220.3 16140.7 
Debt ratio 0.46 0.45 1.17 0.48 1.31 0.74 0.46 0.88 
Debt for b = 
60% 

1846.0 4065.7 902.4 358.3 4259.0 510.8 286.1 10942.9 

 
 
14.2 (a) b* = 1, stable equilibrium 
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 (d) (g-t)T = 0.012 
 (e) b* = -1, unstable equilibrium!  
 
14.3 (a) (y* - r*) = -0.08 
 (b) (y* - r*) = 0.107 
 (c) country A : dynamically efficient, country B : dynamically inefficient 
 
14.4 b* = -3.71, unstable equilibrium 
 
14.5 (a) ( ) 2b g t r y b bα∆ = − + − +  

 For debt levels not close to zero, it will be hard to avoid an "explosion" of b because    
of the quadratic term. 

 (b) The country moves towards C, which is a stable equilibrium. 
 (c) If the increase in the primary deficit is large enough, there will be no equilibrium. 
 
14.6  In 𝐾-∆𝐾 space, (with ∆𝐾 = 𝑠𝐹(𝐾, 𝐿) − 𝛿𝐾), the phase line passes through the origin 

(from below) and later (at some point 𝐾 > 0) intersects the horizontal axis from above. 
The origin intersection represents an unstable equilibrium. The intersection where 
𝐾 > 0 represents the steady state, i.e. a stable equilibrium.   

 
14.7 (a) g - t = -0.065% 
 (b) It depends on the form of government spending. A cut in investment spending can 

 lead to a decline in income growth both in the short and in the long-run.   
 
14.8 The slope of the phase line is 1/(1- α). Since α <1 the phase line is steeper than the 45° line. 
The intersection defines an unstable stationary equilibrium.   
 
14.9 (a) i≈ 2.35 
 
 (b) If the rating is lowered to R=7, then the interest rate increases to i=6.9, but
   we will experience an adjustment back to the good equilibrium, since 
the  
rating jump was not too large.  
 
 (c) If the rating is lowered to R=12, then the interest rate increases to i=16.4.  
  In this case the rating will get worse and therefore the interest rate will rise 



  even more until the default becomes unavoidable. 
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